
 

Gr2 Mod7 Topic B Quiz 
 

Count the coins in each set and write the value. 

 
 

 

Solve each word problem. 

 

4.  Michael had 68 cents. He used 3 dimes, 2 nickels, and 6 pennies to buy a granola bar. How much 

money does Michael now have? 

 

 

 

 

 

 

 

5.  Stephanie has 3 ten dollar bills, 2 five dollar bills, and 16 one dollar bills. How much money does 

she have? 

 

 

 

Fill in the blank. 

 

6.   68¢ + ________ = 100¢ 
 
7.  100¢ - 45¢ = ________ 
 
8.  47¢ + 53¢ = ________ 
 
9.  100¢ = ______ + 28¢ 
 
10. 75¢ + _____= 100¢   
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